


Q1d)

Q2a)               I0=∫
0

1

x0 e1−xd x=∫
0

1

1×e1−xd x

                          =∫
0

1

−(1−x) '×e1−xd x

                          =[−e1− x ]0
1

                          =(−e0
)−(−e1

)

                          =−1+e

                          ∼1,72 .



Q2b) 

           ( xn+1 e1− x) '=(xn+1) '×e1−x+xn+1×(e1− x) '

                             =(n+1) xn×e1−x
+xn+1

×(1−x) ' e1− x

                             =(n+1) xne1− x
−xn+1 e1−x .

Par suite

              ∫
0

1

( xn+1 e1−x) ' d x=∫
0

1

((n+1) xn e1− x−xn+1 e1−x )d x

ce qui équivaut à 

            [ xn+1 e1−x ]0
1
=(n+1)∫

0

1

xne1−xd x−∫
0

1

xn+1 e1− xd x

            1n+1 e0
−0n+1 e1

=(n+1)In−In+1

            (n+1) In−In+1=1−0

            
             In+1=(n+1)In−1 .



Q2c) D'après Q2b) et Q2a)

    
                I1=1×I0−1=I0−1=(e−1)−1=e−2

                I2=2 I1−1=2(e−2)−1=2e−5 .
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